.
i sy A g YY) il 48 o

A gl LAYl g il g SN ddin aud ¢
A EVAVARRRIPCATF ITRY

dag) ) 243,41 o
Olislu scalay) () ¢
Aajare sppailida, e

Calag pdl g pawdd a8l <palall

: cAay AL ol B
!CA\QJA \~! djy’d‘w\m

LAY (8 B puaiia 30 i) ()

Lpaigl) ACiiall (o digl) slaidy) (]

Ll 3 Jal ya g Agabiatdy (g gaadl (9 ZUN) a3l alinl) bl (z
A3 e (¥

§Jaall Gl eyl (o (o sl yaciall ()

Jlgiall (2 sl (7

3) Find the correlation of the following two phenomena
X 1 2 3 4 5
y 2 3 4 5 6
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5) The cost C of a product which depends on two Causes A and B is given by:
c=c,(A? - 40A + 500)(B* - 100B + 7500)
a) Optimize C (find A", B" and C"), b) Find S§ and S§ at:
i) A"andB’, ii) 2A" and 2B",  iii) 0.5A" and 0.5B"
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3) For the following points:
’ X 1 2
Ly 1 3

Use the least squares to fit:
i) Straight line ii) parabola
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